
Announcements

1) HW 4 due Tuesday

2) Colloquium today 2:30

( B 2046 Ravi Ramasami

" Spectrum
of the Kohn Laplaoian

on the Rossi sphere
"

3) Halloween Tuesday

Costumes = Candy



Exampled: All babies have blue

eyes .

n= I step . My son has blue eyes .

Done

Assume that n babies have

blue eyes . Consider any

Collection of ntl babies
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Q.fi#QBy induction
,

all babies in the

blue circle have blue eyes .

Again by induction . all babies

Inthe red circle have blue eyes .

Therefore
.

all babies have blue

eyes by induction

False fails for n=2



2 babies
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There is no way to conclude

another baby has blue eyes

by just knowing my son

has blue eyes



Example 2 . If a
, ,

as .
.  -

,
an EIR ,

-

.

aizo t I E it 2
"

,

2
'

then Ki

( a. as ... as ) .< §,au
K .

inE
geometric arithmetic

average average

This iscalled
the

arithmetic
- geometric

mean inequality .
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Square both sides .
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